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A& & Al A

2M RE2S
HH: FH2E A (L2 BT /ABHEIH)
&el: 5828 2l CERE)
SA - 3 - R(SH) - MRAY - BAS Oif &K %-Ilga_":‘ﬁ HwES2
SH2= 409,332 397,403 11,929
ST AS (LSS E/UBHAE) 255,932 250,448 5,484
S22z 2l 180,732 170,448 10,284
A2 6,500 6,500 0
201 ety 6,500 6,500 0
02 Z524| 6,500 6,500 0
OAIEZEH| St 3,500
—2d2 /A2l 1,500,000& » 14 1,500
—dHE| & HH RX25H]
200,000& * 105 2,000
OXt&= Al 3,000
—90%:0324 R Xl 2,000,000 * 1CH 2,000
—SXIXE(HIIRE) =X
1,000,000& » 1CH 1,000
2otS |AlZ 8,400 6,480 1,920
201 LBt2HH| 8,400 6,480 1,920
02 2522 8,400 6,480 1,920
O=ets =cldl 60,000& * 350 * 40/100 8,400
YHECCTVH X2 2,720 1,600 1,120
201 2Et2EH| 2,720 1,600 1,120
02 3524l 2,720 1,600 1,120
oggacCv &Ies
5,000& * 34 + 123 2,040
OY-HECCTV ==/
50,000& * 3404 * 40/100 680
ZEIA3 ALY 4,864 15,552 210,688
101 @124 3,664 11,302 27,638
M4 JI2HH2EXNSES 3,664 11,302 27,638
OZETY|, gtxadze| oY
73,2803 * 29 * 25¢ 3,664
201 LEH2| 200 200 0
01 At2teld] 200 200 0
OO0lIF 21 =2l 50,0002 * 4CH * 13 200
206 M= 4| 1,000 4,050 23,050
01 =8l 1,000 4,050 23,050
Oot2ste 9 stekae| 1,000
—gSol ZH %M P 10,000& * 105 100
—&Hl & Hlg # 10,000& * 20 * 23| 400
e FY 5,000& * 58 * 43| 100
—==5 7 20,0008 * 20&2 400




Mo

)
[P
{0

- BB SR(S) - NRAR - BES Lro el 2t
H2s FCXAIME 29 6,720 6,120 600
201 k=& 6,720 6,120 600
01 AtR2t2|H 2,820 2,820 0
Ogtt+=EH] 2,820
—ANRES S 78 200,000& = 122 2,400
—&=)] € "ol dE= 35,000& = 12& 420
02 SE=gH| 3,900 3,300 600
O332= % HA 2,400
—=QAXIHE MIIRs, 288 S
200,000& = 12 2,400
OAZEHI= Xl 1,500
—&Hl=2H(B@ADIF &) 200,000 * 33 600
— ORI =H 300,000& * 34 900
FOIXEX] DJlgrdst 151,528 126,568 24,960
301 Let2HS 151,528 125,318 26,210
05 & - 0% - tdas2es 144,220 119,270 24,950
Oosg¥=g 135,720
—Jlzs 300,000& * 29H « 123 104,400
—&03 300,000& * 292 » 200% 17,400
—slolEM LY
20,0003 » 299 » 23| » 12& 13,920
Oftd=g 50,000& = 170H 8,500
09 BAMAHIXIES 7,308 6,048 1,260
OSE&ot E9 S 3AFAR =4
7,0008 » 874 » 128 7,308
A2 FREAAY 75,200 80,000 24,800
A2 FREANY 75,200 80,000 /4,800
401 AlEHIL SO0 75,200 80,000 A4,800
01 Al£H] 74,550 80,000 N5,450
OATZ FRIEHAAY 74,550
—4S QIEFH| SAt 150,000& * 40m 6,000
—108 I=&H| SAt 150,000& * 40m 6,000
—128 I=&H| SAt 150,000& * 40m 6,000
—268 CI=&FH| SAt 150,000& * 40m 6,000
—3& ot AFMAHI 2X & FF WHSA
7,600,000& * 14 7,600
—58 o= AFMAI| EX & FF WHSAH
7,600,000 » 14] 7,600
—HotS ME H WHSA
1,000,000& * 5JHA 5,000
—7S 2eloteA &X
15,000,000 * 1JH2 15,000




SN

Boi Sabe AG(LUBDHE/LNHE)
ol ATQ FOIEHOlAl (crol: M)
S - R - SRIEH) - ARAY - BAS e Cie HImE2
—MOFE 22 ol SA
15,350,000& » 14] 15,350
03 Al& =0 650 0 650
OARD FUHMOAAY AlLLTHY]
650,000& * 14 650
HY2AHHI(FE23)(JIEHDIE 153,400 146,955 6,445
el 24| 52,044 51,517 527
kel 52,044 51,517 521
101 el24H] 52,044 51,517 527
01 2= 52,044 51,517 527
OARIeIRR4E
10,9523 » 11 = 36AI12t = 123 52,044
Jl=3Hl 101,356 95,438 5,918
Jl=3H 101,356 95,438 5,918
201 fEh=2 g 49,516 43,598 5,918
01 At22teld] 28,386 27,228 1,158
OSAZA 7Y 16,0008 » 122tA = 123 2,304
OE20HAldI 7,000 * 441 » 128 = 12E 4,032
Ogte=g 100,000& = 12 1,200
Oamtl EA7H 50,000& * 12& 600
Oa7e =4t 5,040
—=S A =2 500,000 = 1CH 500
—ZelE =2 100,000& = 2CH = 50/100 100
—SAD| E 200,000 = 53| = 1CH 1,000
—IOZlef EW(E%)  200,0008 * 53] = 2CH 2,000
—IOglef EW(Zd)  200,0008 » 33| = 1CH 600
—PC ==cl 100,000& = 12CH = 20/100 240
—JIEt Z=clbl 50,000& = 12 600
OJIEL AFR2tel] 5,000& » 12& 123 720
Og-=AH| 14,490
—2X 60,0002 * 18 * 118& 7,080
—=7 30,0002 = 18 * 247 7,410
02 5= 21,130 16,370 4,760
O332= € MAl 20,650
— RS 225,000 = 128 2,700
—M|Rs 1,100,000& * 12 13,200
—dotr=ER= 100,000& = 12& 1,200
—&D| B =8 110,000& = 128 1,320
—SFNERE=S 50,0008 = 23] 100
—sJ| RAE=> 9| 165,000& = 12 1,980
—s5&J| 12l 150,000 * 13 150




SN FERS
I WWSABHI(FE2S)(OIEHIIE
ci9l: Jl= 2 (S @)
D i Crol(a ool . B PJE[= =
A - FB . C2l(3)) - NIRAIY - BAS 0l bl ol o HIDE2
Ondgsa 20,0002 * 2818 » 128 480
202 04l 39,960 39,960 0
01 =LHAOLI 39,960 39,960 0
O2Lh04l 20,0003 = 128 = 12& = 128 34,560
O22| 04| 90,000&  12& = 5& 5,400
203 HRF&| 10,080 10,080 0
01 D228 LR 6,600 6,600 0
O JI22ZYRFAHl  6,600,0008 » 1H 6,600
02 HRAIIAALEAY] 480 480 0
OFEIRIG L] 40,0003 * 12¥ 480
04 EME2gE2F4I 3,000 3,000 0
ORMegYL=aY 250,008 * 122 3,000
204 X2 4EHH| 1,800 1,800 0
01 MR HY| 1,800 1,800 0
ONHIYRL A (FH2SE)
150,0008 » 18 « 122 1,800






